Il. Binary Compounds containing Two Non-Metals

The name consists of the non-metal that is further toward the left and bottom of the periodic table, followed by
the —ide form of the second non-metal.

Compounds containing more than one of the non-metal elements can be distinguished by:

Mono — one Penta — five Octa — eight

Di - two Hexa — six Nona — nine

Tri— three Hepta — seven Deca — ten &
Tetra — four

Ex. CO  Carbon monoxide
CO- Carbon dioxide A

Practice: Name the following compounds.

1. PBr _Phosphorus tribende 4. si0. _s\lion diowde
2. €S _Qonbon dusuthae 5. ' - it

3. ChOy _dichliving, iggptamdg 6.

Practice: Write the formula for the following compounds.
1. Dibromine tetraoxide 4. Tetrasulfur tetranitride 5:)\1.] N':l
2. Diiodine tetraoxide I:; ;3; 5. Sulfur hexafluoride o

L,

3. Phosphorous triiodide 6. Oxygen dibromide 0 ﬁli

V. Binary Inorganic Compounds (Acids)

Containing a hydrogen and an non-metal. Start with hydrogen then the —ide form of the non-metal. When this
type of compound is in an aqueous solution it will form an acid, then siate hydro for the hydrogen and add the
suffix —ic to the non-metal,

An acid is a molecular substance that when dissolved in water produces hydrogen ions (H).

Ex. HCl(aq) hydrochloric acid
HaS (aq) hydrosulfuric acid

If the combination is hydrogen and a polyatomic ion change the —ate of the polyatomic ion to -ic.

Ex. GoH:0- acetate = HC-H:0» acetic acid
PO,* phosphate & H;PO; phosphoric acid

VL Ternary Compounds (Acids)

Chlorine, nitrogen, sulfur, phophorus, and others form oxyacids. Oxyacids are ternary compounds with
hydrogen and oxygen,

If the acid has the most oxygen then it has the suffix - ic.

If the acid has fewer oxygen then it has the suffix — ous.

If the acid has the greatest number of oxygen it has the prefix per-.

If the acid has the least number of oxygen it has the prefix hypo-.

Ex. HCIO; Perchloric acid
HCIO;  Chloric acid
HCIO:  Chlorous acid
HCIO  Hypochlorous acid



Write the name for the following ionic compounds.
26. thadnesum dtvide
27.
28.
29.

30.

Mg;N:

CasPOy),  CalCium phespiaade

ALSO.:  Qlumigum sulfote.

(NH)CI

K-0

W

polasgumonde

Write the formula for the following ioni¢ compounds,

36.

37.

38,

39.

40.
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T mpes for the {pllowing metallic compounds. Ho -b
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Mercury (I) nitride &% 2 N
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Copper (1T) iodide”  Cal,
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N5Os
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Write the formula for the following metallic compounds.
50. Tin {V) chloride' nCJ 55.

51. Cobalt(In fluoride ~ _(,Fa 36.

52. Chmmimﬁn} Gilfids; O S 57.

53. Lead (Il) sulfide”” Pb.S 58.

54, Tin (1) bromide!~ Sh Be, 59.
Write the name for the following covalent compounds.
60. NO 65.

61. P05 66.

62. PCls 67.

63. IF, 68.

64. CBry 69.

SO5
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